IB HL1  
Prerequisites Practice 2
Evaluate these expressions without a calculator.
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	Solve the logarithmic and exponential equations with answers in exact form and to 3 sig figs (IB Math style).
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23.   The population of a colony of bacteria is an exponential function of time, 
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        after 2 hours and 405 bacteria after 4 hours, then

(a) Find the values of C and k and write the equation relating the population y after t hours.

(b) How many bacteria are present after 7 hours? Give an exact answer.
Prerequisites Practice 2—Answers  

1.  0

2.  
[image: image24.wmf]3

5



3.  
[image: image25.wmf]2



4.  -9



5.  -2

6.  32

7.  3.5

8.  1
	9.
	
[image: image26.wmf]4


	10.
	
[image: image27.wmf]ln.5

0.231

3

-»


	11.
	
[image: image28.wmf]ln15

1.39

ln7

-»-



	12.
	
[image: image29.wmf]729


	13.
	
[image: image30.wmf]3


	14.
	
[image: image31.wmf]5

,22.67,2

3

-»-



	15.
	
[image: image32.wmf]3

1.5

2

-=-


	16.
	
[image: image33.wmf]3,2

-


	17.
	
[image: image34.wmf]1



	18.
	
[image: image35.wmf]1

0.25

4

=


	19.
	
[image: image36.wmf]5


	20.
	
[image: image37.wmf]5

49.5

3

e

»



	21.
	
[image: image38.wmf]16

ln.182

725

æö

-»-

ç÷

èø


	22.
	
[image: image39.wmf]9

1.2

51800

e

-»


	23.
	a) 
[image: image40.wmf](

)

1

2

ln9

5

t

ye

=


b) 10935 bacteria
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